	Rule A: y = 2x +1

	Table
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OUT ()






	Graph:

[image: image2.png]



	Description: What do you see? (Line? Steepness? Direction)



	Rule B: y = -2x

	Table
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	Graph:
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	Description: What do you see? (Line? Steepness? Direction)



	Rule C: y = x + 4

	Table
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	Graph:

[image: image6.png]



	Description: What do you see? (Line? Steepness? Direction)



	Rule D: y = -x + 4

	Table
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	Graph:
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	Description: What do you see? (Line? Steepness? Direction)



	Rule E: y = x2

	Table

[image: image9.png]IN W)

OUT ()






	Graph:
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	Description: What do you see? (Line? Steepness? Direction)



	1-18 Conclusion Describe what you did and what you observed in today’s classwork.

	a. Compare the graphs in 1-17.  How are they similar?  How are they different?.



	b. Using words, express each symbolic rule in parts (a) through (e).



	c. Did you notice any patterns?  Why was it easy to spot someone who was out of place?




